Downloaded From:http://iasexamportal.com

[DO NOT OPEN THISTEST BOOKLET UNTIL YOU AREASKED TO DOSO)

COMBINED COMPETITIVE (PRELIMINARY) EXAMINATION, 2013

Serial No. ANIMAL HUSBANDRY & A
VETERINARY SCIENCE
Code No. 02
[TimeAIIowed:Tonours j ( Maximum Marks : 300 ]

\

10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THISTEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D ASTHE CASE MAY BE IN THE
APPROPRIATE PLACE IN THE RESPONSE SHEET.
You have to enter your Roll Number on this Your Roll No.
Test Booklet inthe Box provided alongside.

DO NOT write anything else on the Test Booklet.
ThisBooklet contains 120 items (questions). Each item comprises four responses (answers). You will select
one response which you want to mark on the Response Sheet. In case you feel that there is more than one
correct response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each item.

In case you find any discrepancy in this test booklet in any question(s) or the Responses, a written
representation explaining the details of such alleged discrepancy, be submitted within three days, indicating
the Question No(s) and the Test Booklet Series, in which the discrepancy is alleged. Representation not
received within time shall not be entertained at all.

You have to mark all your responses ONLY on the separate Response Sheet provided. See directionsin the
Response Sheet.

All itemscarry equal marks. Attempt ALL items. Your total markswill depend only onthe number of correct
responses marked by you in the Response Sheet.

Before you proceed to mark in the Response Sheet the response to various items in the Test Booklet, you
have to fill in some particulars in the Response Sheet as per instructions sent to you with your Admit Card
and Instructions.
While writing Centre, Subject and Roll No. on the top of the Response Sheet in appropriate boxes use
“ONLY BALL POINT PEN”".
After you have completed filling in all your responses on the Response Sheet and the examination has
concluded, you should hand over to the Invigilator only the Response Sheet. You are permitted to take away
with you the Test Booklet.
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1. Gedationperiodingoatis:
(A) 148-156 days (B) 120-126 days
(C) 175-180days (D) 90-95days
2. Whichof thefollowingisadual purposecattlebreed ?
(A) Kankrg B) Gr
(C) Kangayam (D) Khillar
3. Geneticdly twotraitsarerelated dueto:
(A) Multipledldes (B) Pleotropism
(C) Polygenes (D) Alltheabove
4. Whichof thefollowingisawater solublevitamin?
A) A (B) B
(© D (D) K
5. FSHand LH hormonesarereleased from thefollowing organ :
(A) Adrend cortex (B) Ovay
(C) Anterior pituitary (D) Pogerior pituitary
6. Theamount of heat resulting from the compl ete oxidation of unit weight of afood isknown as:
(A) Digedibleenergy (B) Grossenergy
(C) Netenergy (D) Metabolizableenergy
7. Adultfemaegoatisknownas:
(A) Doe (B) Ewe
(C) Heifer (D) Steer
8. VitaminB,,isasocaledas:
(A) Thiamine (B) Cyanocobdamin
(C) Riboflavin (D) Cobdamin
9. Ydlow coloration of cow milkisdueto:
(A) Xanthene (B) Carotene
(C) Hourexein (D) Ca=in
10. Skimmilk contains:
(A) Lessthan0.1%fat (B) 1%fat
(C) Morethan 30% protein (D) Maximum of 5% SNF
11. Whichof thefollowing vitaminsisnormally synthesized in poultry and hencenot considered a
required norma dietary nutrient ?
(A) Vit.K (B) Vvit.C
(C) Vit.A (D) Vit.E
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12. About 50 per cent of total meat in Indiaisproduced by :

(A) Ruminante (B) Poultry

(C) Pggery (D) Fshery
13. Percentageof nitrogenin crudeproteinisabout :

A) 12 (B) 22

(C) 26 (D) 16
14. Chevonisthenameof meat of :

(A) Sheep (B) Goat

(C) Cow (D) Hg

15. Withreferenceto genesfor milk yield, consider thefollowing:

(@ Onlyfemaescarry thegenes

(b) Itissexinfluenced

Which of the statements given aboveigare correct ?

(A) (@only
(C) Both(a) and (b)

(B) (b)only
(D) Noneof them

16. OrganismscausingBabesogslivein:

(A) WBCs
(C) RBCs

17. Consderthefollowing statements:

(B) Platelets
(D) Alltheabove

(@ Indiahasabout 75% of world' sbuffalo population
(b) Indiahasabout 50% of world'scattle population
(¢) Indiahasabout 10% of world’s sheep population
Which of the statements given aboveigare correct ?

(A) (@only
(©) (gonly

(B) (b)only
(D) Noneof them

18. Theoptimumdry period recommended for annua cavingis:

(A) 1month
(C) 3months

(B) 2months
(D) 4months

19. Neutrophil and Lymphocyte countsof normal heglthy cattleis:

(A) 60and30
(C) 30and 30

(B) 40and 10
(D) 30and 60

20. WhiteLeghorn breed of poultry isalan:

(A) Mediterranean breed
(C) Englishbreed
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Asper Prevention of Food Adulteration Act, thefat content of milk powder should not beless
than:

(A) 42% (B) 26%

(C) 12% (D) 4%

Which of thefollowing specieshasthe highest dressing percentage ?

(A) Sheep (B) Goat

(C) Cattle (D) Ag

Inwhich method of selection, minimum standard isfixed smultaneoudy for severd traits?
(A) Tandem method (B) SdectionIndex

(C) Independent cullingleve (D) Sreindex

Thecorrect ascending order of annual genetic gaininthefollowing speciesof livestock :
(A) Cattle, sheep, pig, poultry (B) Poultry, pig, sheep, cattle

(C) Poultry, sheep, pig, cattle (D) Poultry, cattle, sheep, pig

Congder thefollowing Statements:

(@ Selectioncreatesnew gene

(b) Desred genefrequency increasesby selection
Which of the statementsgiven aboveigare correct ?

(A) (@only (B) (b)only

(C) Both(a) and(b) (D) Noneof them
‘Lard’, ananimal fat used ascookingfat isobtained from:

(A) Pg (B) Fsh

(C) Sheep (D) Poultry
Sickle shaped hornisthe characteristic of thefollowing buffalo breed :
(A) Jeffarbadi (B) Surti

(C) Nagpuri (D) Mehsana

Whenthesdection differential is200 kg and heritabitity of thetraitis0.4 thegenetic gain per
generationwill be:

(A) 280kg (B) 80kg

(C) 240kg (D) 40kg

A diseasecommonly found with regularity inaparticular locality isknown as:
(A) Endermnic (B) Epidemic

(C) Pandemic (D) Epizoctic

Freemartinisa:
(A) Femaecalf bornco-twintoamalecalf (B) Mdecdf bornco-twintoafemaecalf
(C) Femalecalf bornco-twintoafemalecalf (D) Maecaf bornco-twintoamaecalf
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31. Sunandini cattle breed devel opedin Keralaisacross between:
(A) BrownSwissandlocd cattle (B) HFandlocd cattle
(C) Jersey andlocal cattle (D) RedDaneandloca cattle
32. Anexotic breed of pigwithdroopingearis:
(A) LargewhiteYorkshire (B) Landrace
(C) Hampshire (D) Berkshire
33. Thedigestiblecrude protein content fodder maizeisabout :
(A) 10-12% (B) Zero%
(C) 7-8% (D) 1-2%
34. Daily digestible crude protein requirement of cattleweighing 300kgis:
(A) 0.2kg (B) 2kg
(C) 3.0kg (D) 1.0kg
35. Biologica vaueof eggproteinis:
(A) 80% (B) 100%
(C) 94% (D) 75%
36. A good silageshould haveapH of :
(A) 6.2-6.4 (B) 82-8.6
(C) 23-25 (D) 42-45
37. Unhedthy hair andwool inlivestock isgenerally dueto thedeficiency of :
(A) Zinc (B) Cddum
(C) Sodium (D) Phosphorus
38. Incattle, thebypass protein bypassesthe:
(A) Largeintestine (B) Rumen
(C) Smdlintestine (D) Entiredigestivesystem
39. Standardlactationlength for standardizing themilk recordis:
(A) 270days (B) 365days
(C) 330days (D) 305days
40. Anided caf starter ration contains:
(A) 20% DCPand 70% TDN (B) 50% DCP and 50% TDN
(C) 70% DCPand 20% TDN (D) 40% DCPand 50% TDN
41. Theratioof total number of servicesto number of animalspregnant/calvedisknown as:
(A) Fertility rate (B) Birthrate
(C) Conceptionrate (D) Servicerate
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42. Thelncubation period of Foot and Mouth Diseaseis:
(A) Onemonth (B) Sxmonths
(C) 15-20days (D) 3-4days
43. Whichof thefollowing breeds of buffal oes produceshigest fat percentage ?
(A) Bheadawari (B) Surti
(C) Murrah (D) Nagpuri
44. Dry matter requirement of alactating buffaloweighing 500kgis:
(A) 30kg (B) 5kg
(C) 10kg (D) 15kg
45. Thedrugusedfor treating bovineketosisis:
(A) Sodiumbicarbonate (B) Sodium carbonate
(C) Sodiumchloride (D) Sodium propionate
46. Thefat depositsintheleantissueof meatiscalled:
(A) Lumping (B) Bubling
(C) Adiposng (D) Matling
47. Themilk product whichisobtained by draining whey after coagulation of milkiis:
(A) Yoghurt (B) Cheese
(C) Skimmedmilk (D) Paneer
48. Theprotein content of large poultry eggisabout :
(A) 14-15gm (B) 6-7gm
(© 1-2gm (D) 10-12gm
49. Theided temperatureduring first week of brooding of chicksis:
(A) 90 °F (B) 95°F
(C) 100 °F (D) 85°F
50. Gestationlengthinpigisabout:
(A) 3months (B) 4months
(C) 5months (D) 6months
51. Freshly drawnmilk haspHintherangeof :
(A) 7.0-7.2 B) 74-7.6
(C) 65-6.7 (D) 6.0-6.2
52. Themost commonly used test to detect bacteriainmilk is:
(A) Standard plate count (B) Alcoholictest
(C) Butyrometer test (D) Gerber method
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Therecommended excticlevel of inheritance of crossbreeding Indian dairy cattle, for most
regionsof thecountry is:

(A) 75% (B) 50%

(C) 87.5% (D) 95%

Modern commercial poultry layersstartstolay egg at theageof around :
(A) 20weeks (B) 6weeks

(C) 30weeks (D) 40weeks
Theheritability of eggweightin poultry is:

(A) hdh (B) low

(©) zeo (D) 1.0

Which oneof thefollowing methodsisnot used for sexing of chicks?
(A) Identification of rudimentary testesin cloaca

(B) Rapidanddow feathering

(C) Baringandnon-barring

(D) Comb shape

57. Thefeed cost asthe percentage of total cost of commercial poultry productionis:
(A) 60-70 (B) 40-50
(C) Above90 (D) 30-40
58. Themgor component of egg shell is:
(A) Cdcium phosphate (B) Cdciumchloride
(C) Caciumcarbonate (D) Dicdciumphosphate
59. Swinefeverinpigsiscaused by thevirusbe ongingtothegenus:
(A) Influenzavirus (B) Vesculovirus
(C) Pegtevirus (D) Cddvirus
60. Thelncubation period in Haemorrhagic Septicaemiaisabout :
(A) 30days (B) 60days
(C) 2days (D) 120days
61. Which oneof thefollowing diseasesisnon contagious ?
(A) Black quarter (B) Bovinepleuropneumonia
(C) Echthyma (D) Ranikhet disease
62. Whichof thefollowing isnot the speciesof Thelleriacausing organismin cattle?
(A) T.bovis (B) T.parva
(C) T.annulata (D) T.mutans
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Which of thefollowing isnot anindigenous poultry breed ?

(A) Asd (B) Busa

(C) Karaknath (D) Sl

Hissardale sheepisacrossbetween

(A) Kashmiri Merino and Hissar breeds (B) Bikaner and Rambouillet

(C) Rambouillet and Marwari (D) AudrdianMerinoand Bikaner

Which of thefollowingiscorrect with regard to thedipl oid chromosome number ?
(A) Samein sheegp and goat (B) Samein cattleand goat
(C) Sameinbuffaloand sheep (D) Sameinsheegpandcattle

Which Stateisthe natura habitat of Jamnapuri goat breed ?
(A) Gujarat (B) Uttar Pradesh
(C) NorthEastIndia (D) Kashmir

Which of thefollowing statementsistruein cattle ?
(A) Theincisor teethisabsent inthe upper jaw
(B) Theupper jaw hasfour incisorsin adults

(C) Upper and lower jawshavefour incisorseach
(D) Upper and lower jawshavetwoincisorseach

Persistent Corporalnteamay beobservedin:
(A) Pyometra (B) Mummifiedfetus
(C) Mucometra (D) All theabove

Consider thefollowing with respect to Marek’sdiseasein poultry :
(@ Marek’sdiseaseisalympho proliferative disease of chickens.
(b) TheMarek’sdiseasevirusbeongstothefamily Retroviridae.
Which of the statementsgiven aboveigarecorrect ?

(A) (@only (B) (b)only
(©) (a)and(b) (D) Noneof them
70. TheStatewhich hasthe maximum sheep populationinIndiais:
(A) Rgasthan (B) Haryana
(C) Punjab (D) Uttar Pradesh
71. A sheepbreed of Himaayanregionis:
(A) Lohi (B) Chokla
(C) Gaddi (D) Shahabadi
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In methylene bluereduction test for testing the quality of semen, agood semen should reducethe
colorin:

(A) lessthanoneminute (B) 60minutes

(C) 10-20 minutes (D) 10seconds

Consder thefollowing statementswith respect toimmunity :

(8 Passiveacquiredimmunity isthat which theanimal producesinitsown body asaresult of
diseasefollowed by recovery or by vaccination.

(b) Activeacquiredimmunity istransferredintheform of blood serum globulinto oneanima
from another which has previoudly recovered from adisease or has been vaccinated.

Which of the statementsgiven aboveigarecorrect ?

(A) (@only (B) (b)only

(C) Both(a) and (b) (D) Noneof them

Withregard to Synchroni zation of estrousin sheep, consider thefollowing :

(@ Intramuscular injection of ProstaglandinF,, onceduringinteal phaseof estrousinduceestrous.
(b) Estrogeninjectiontwo daysafter the Progesteroneinjection can asoinduceestrous.
Which of the statements given aboveigare correct ?

(A) (@only (B) (b)only

(C) Both(a) and (b) (D) Noneof them

Most ideal breeding programmefor descript buffalo breedsof Indiais:
(A) Inbreeding (B) Sdectivebreeding
(C) Crosshreeding (D) Upgrading

Withregardto Brucellosisin cattle consider thefollowing:

(8 B.abortusgenerally causesabortion during thefirst or second month of pregnancy.
(b) Milkringtestisused asaherd screening test.

Which of thefollowing statementsis/arecorrect ?

(A) (@only (B) (b)only

(C) Both(a) and (b) (D) Noneof them

Consider thefollowing with respect to Tuberculosis:

(@ TuberculossduetoMycobacterium bovisoccursonly in cattle but not in other ruminants.
(b) Humanbeingsmay aso get affected by M. bovis.

Which of the statementsgiven aboveigarecorrect ?

(A) (@only (B) (b)only
(C) Both(a) and(b) (D) Noneof them
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Consider thefollowing statementswith respect to dystocia:

(@ Dystociainanterior presentationisrelatively morecommon than dystociain posterior
presentationin cattle.

(b) Posterior presentation isconsidered pathological inall except themultiparousanimals.

Which of thefollowing statements given aboveig/arecorrect ?

(A) (@only (B) (b)only

(C) Both(a) and(b) (D) Noneof them
Thegestation periodinrabbitis:

(A) 60-62days (B) 50-52 days

(C) 40-42days (D) 30-32days
Which breed of rabbit isexclusively reared for wool ?

(A) New Zealand White (B) RussianGrey Giant
(C) Angora (D) SovietChinchilla
Photoperiodismischaracteristic of thereproductive cycleof the:

(A) Hg (B) Sheep

(C) Cattle (D) Alltheabove

Congder thefollowing Statements:

(@ Alltheovacarry X chromosome

(b) Only half of the spermscarry X chromosome
Which of the statements given aboveigare correct ?

(A) (@only (B) (b)only

(C) Both(a) and(b) (D) Noneof them
Themainingredient of the semen diluents protecting the spermatozoafromfreezinginjury is:
(A) Tri sodiumcitrate (B) Potassumchloride
(C) Glycerol (D) Sodiumbicarbonate
Thegenesthat control quantitativetraitsareknown as:

(A) Multipledlde (B) Multiplegenes

(C) Epidaticgenes (D) Hypodtaticgenes
The correl ation between reproduction efficiency and lactation parametersis:
(A) Veylow (B) Veryhigh

(C) One (D) Aboveone

Theformulafor correcting thefat corrected milk yieldis:
(A) 0.4 (Totd fatyield) + 15 (Total milk yield)

(B) 0.4% (fat %) + 15 (Tota milk yield)

(C) 0.4 (Tota milkyield) + 15 (fat %)

(D) 0.4 (Total milkyield) + 15 (Total milk yield)
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Superiority of the selected animal sto bethe parents of the next generationis:
(A) Sdectiondifferentia (B) Sdectionintengity
(C) Sdectionindex (D) Sdlectionpressure

Cong der thefollowing statementswith respect to selection:

(@ Fewerthetraitsunder selection dower theprogress.

(b) Individuad selectionisided for traitswith high heritability.

Which of the statements given aboveigare correct ?

(A) (@only (B) (b)only

(C) Both(a) and(b) (D) Noneof them

Consder thefollowing statementswith respect toinbreeding :

(8 Themaingenetic consequenceof inbreedingisincreasein heterozygocity.
(b) Inbreeding decreases pre potency.

Which of the statementsgiven aboveigarecorrect ?

(A) (@only (B) (b)only
(C) Both(a) and(b) (D) Noneof them
90. Ketosisisadiseaseof ruminantscaused by impairment of metabolismof :
(A) Protein (B) Carbohydratesandvolatileacids
(C) Proteinand carbohydrates (D) Carbohydratesand mineras
91. Hepatointestinal form of schistosomiasisin cattleiscaused by :
(A) Schistasomaindicum (B) Schisgosomanasde
(C) Schigosomaannulata (D) Alltheabove
92. Whichof thefollowing chemicasisgenerdly used for dehorningin caves?
(A) Sodium bicarbonate (B) Sodium carbonate
(C) Caustic potash (D) Magnesumchloride
93. Whichof thefollowingisarickettsd diseasein catle?
(A) Anagplasmoss (B) Coccidiosis
(C) Thellerioss (D) Babesoss
94. Inmetabolicacidoss, blood pH fallsdueto:
(A) Increased carbonicacid (B) Decreased bicarbonates
(C) IncreasedLacticacid (D) Decreased potassum hydroxide
95. Mostideally, FM D suspected sample should becollectedin:
(A) Formal saline10% (B) Formaine10%
(C) Glycerine50% (D) Alcohol 70%
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96. Haemolyticanaemiaiscaused by :

(A) Coccidia (B) Anaplasmaspp.

(C) Proteusspp. (D) Hemouchus
97. Phlehitisistheinflanmationof :

(A) Artery (B) Vven

(C) Lymphvesd (D) Caillary

98. Consder thefollowing statementswith respect to rigor mortis:
(@ Itappearsquickly incaseof animal died dueto strychnine poisoning.
(b) Isenhanced by starvation and cold beforethe death of theanimal.
Which of the statementsgiven aboveigarecorrect ?

(A) (@only (B) (b)only
(C) Both(a) and(b) (D) Noneof them

99. Thetest/susedfor detecting mastitisin cattle:
(A) Hotistest (B) Bromothymol bluetest
(C) Whitesidetest (D) Allofthem

100. Paragiticcirrhosisiscaused by :
(A) Hemonchussp. (B) Ascarislumbricoides
(C) Amphisomes (D) Fasciolasp.

101. With respect to diagnosisof rabies, consider thefollowing :
(@ Absenceof negri bodiesconfirmsthat theanimal isnot affected by rabies.
(b) Habe’smouseinoculation test islessaccuratethan negri bodiesdetection.
Which of the statementsgiven aboveigarecorrect ?

(A) (@only (B) (b)only

(C) Both(a) and(b) (D) Noneof them
102. Most common siteof calculi lodgementinbullockis:

(A) Pdvicurethra (B) Sgmoidflexure

(C) Neck of the bladder (D) Tipof urethra
103.Thehormonethat isprimarily responsiblefor the onset of ovarian activity and puberty is:

(A) FSH (B) Progesterone

(C) Edtrogen (D) Lutenizinghormone
104. Progeny testing programmeisdonefor the selection of :

(A) Progeny (B) Sre

(C) Dam (D) BothSireand Dam
ElJ-49851-A 13 [Turn over
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105. Consder thefollowing statementswith respect to Bluetongue disease:
(@ Itiscausedby virusbeonging to genusorbivirusof Reoviridaefamily.
(b) Itistransmitted by culicoides speciesof biting midges.
Which of the statements given aboveigare correct ?

(A) (@only
(C) Both(a) and (b)

106. Heritability valuesrangesfrom:
(A) Oto1
(C) 1to100

107. Primary energy sourceinruminants:
(A) Aceicacid
(C) Butyricacid

108.Ghee containsfat percentageof :
(A) 46%
(©) 20%

109. Milk pasteurizationisdoneat temperature of :

(A) 110degreefor 15min
(C) 72degreefor 15 seconds

110. Most potent green house gas produced by ruminantsis:

(A) CO,
© o,

111. Feed conversonratioishighestin:
(A) Ag
(C) Sheep

112. Stiff lamb diseasein sheepiscaused by :
(A) VitaminA deficiency
(C) VitaminB, deficiency

113. Blind staggersisnoticed in horsesdueto:

(A) VitaminB, deficiency
(C) VitaminEtoxicity

114. Doubletoned milk contains:

(A) 3%fat and 9% SNF
(C) 3%fat and 8.5% SNF
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(b) only
Noneof them

—-1to+1
2to4

Propionicacid
Lacticacid

99 %
16 %

45 degreefor 15min
99 degreefor 30 min

HS
CH

Poultry
Goats

Vitamin B, deficiency
Vitamin E deficiency

Sdeniumtoxicity
Copper poisoning

1.5% fat and 9% SNF
1.5%fat and 8.5% SNF
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115. Swineinfluenzaiscaused by :

(A) H5N1 (B) HIN1

(C) H2N7 (D) H5N7
116. Linkage between two adjacent nucleotidesis:

(A) Phosphodiester bond (B) Hydrogenbond

(C) Phosphatebond (D) Water bond
117. Synthesisof RNA from DNA isknown as:

(A) Trandation (B) Transduction

(C) Transcription (D) Trandformation
118. Hormoneresponsiblefor ovulationis:

(A) Prolactin (B) Estrogen

(© LH (D) PGF,alpha
119. Actino bacillossaffects:

(A) Hardtissues (B) Softtissues

(C) <in (D) Horns
120. Principal volatilefatty acid producedinrumenis:

(A) Acseticacid (B) Propionicacid

(C) Butyricacid (D) Lacticacid
ElJ-49851-A 15
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